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In the Galdi supermarket there is a discount on the Dubai chocolate! In total, N 

products are sold, each having price 𝑎𝑖. Every product is unique – its quantity is 1. The shop 

offers the following discount: if you buy at most 2 products with total price above the boss’ 

favorite number X, you win a free Dubai chocolate bar. Marketing is important but so is profit, 

which is why Galdi hired you to prevent the discount by limiting the products being offered. 

Your task is to find the maximum number of products, which can be offered in the shop, so 

that the discount is impossible to achieve. 

Input 

The first line of the file chocolate.in contains 2 integers N and X. N positive integers 

follow – 𝑎1, 𝑎2 … 𝑎𝑁, describing the prices of the available products. 

 

Output 

Print 1 number in the file chocolate.out – the maximum number of products. 

 

Constraints 

𝑁 = 200000 

0 ≤ 𝑋, а𝑖 ≤ 109 

 

Time limit: 0.1 sec.  

Memory limit: 256 MB 

Sample test 

Input (chocolate.in) Output (chocolate.out) 

4 5 
1 3  4  7 

2 

 

Sample test explanation 

If you keep offering products with index 1 and 3, their sum would not exceed 5. 

 


